Component Material Coating
Body Nodular cast iron 666-50 EI;OXY
End Ring Nodular cast iron 66G-50 EPOXY
Bolts 6.8 Steel GEOMET
Grip ring STEEL - EPDM Bichrom.
Gasket EPOM

TAOxxxB 1/1

CHRYSSAFIDIS Coupling for PE pipes

Series 1.800

REF. @ Pipe Screw Quantity Weight
1800 60,3 M10x60 4 43
1800-A 63 M10x40 4 47
1801-A 75 ] M10x60 8 il i _54—
- 1803 o ﬁ a M10x60 _B_ _6j6
1804 110 M10x60 8 T4
1804-A 125 M10x60 8 8,0
1805-A 140 M12x75 8 10,0
1806 160 M12x75 8 11.6
1806-A 180 M12x75 8 12,9
1807 200 M12x75 12 16,4
1807-A 225 M12x75 12 20,0
1808 R 2?0 M12x75 12 23,2
1808-A 280 M12x75 12 27,4
- 1809 315 B M12x75 12 320

Flange adapter for PE pipes
Series 2.800

Component

Flange

End Ring
Bolts

- Grip ring
—Gasket

Material Coating
Nodular cast iron GGG-_SO | EPOXY
Nodular cast iron GGG-50 | EPOXY

_6.8_Ste; | GEOMET

STEEL - EPDM Bichrom
EP_DM o =

2804-A

2805

2806
2806-A

2807

2807-A

2808
2808-A
2809

2805-A

DN T @ Pipe Screw Quantity Weight
50 | 603 | Mi0xe0 2 43
50 | 63 M10x60 2 45
] 60 ‘ 63 M10x60 2 4k
leorss | 75 M10x60 4 55
' g0 | 9% M10x60 4 b
| 100 | 110 M10x60 4 74
00 | 128 M10x60 4 7.8
125 | 12s M10x60 RV 82
|1z | a0 M12x75 4 10,2
150 | 140 M12x75 4 13,6
150 i 180 : M12x75 _;' i | 1aa
[ 200 | 200 M12x75 | 6 | 197
200 | 25 | wmizs 6 203
250 . 250 M12x75 6 | 28
250 [ 280 M12x75 6 ! 262
a0 | 315 | M12x7S 6 329
25

CHRYSSAFIDIS S.A./ ATHENS: 3 AGRINIOU STR, TAVROS - (+30) 210 4836315-20 / THESSALONIKI: DA12A STR, OT32, BIPE SINDOU - (+30) 2310 754681-4 / www.chryssafidis.com / sales@chryssafidis.gr



dserfiotis
Typewritten Text
CHRYSSAFIDIS S.A./ ATHENS: 3 AGRINIOU STR, TAVROS - (+30) 210 4836315-20 / THESSALONIKI: DA12A STR, OT32, BIPE SINDOU - (+30) 2310 754681-4 / www.chryssafidis.com / sales@chryssafidis.gr 

TOSHIBA1
TA0xxxB 1/1




